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QUESTION 1

An administrator is unable to use the vSphere Client shutdown option on a Windows VM.
What should be installed to correct this?

A. Autologon

B. Windows Updates

C. PortMon

D. VMware Tools

Correct Answer: D

QUESTION 2

What is the maximum number of vCenter Server Appliances that can be linked together using Enhanced Linked Mode
and displayed in a single inventory view?

A5

B. 10

C.15

D. 20

Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vcenter.install.doc/GUID7A90361C-
E95B-4C53-A328-3DB9EE20536D.html

QUESTION 3

An administrator wants to enable vCenter High Availability (vCenter HA) for a VMware vCenter Server Appliance
(vCSA). The environment consists of the following:

1.
50ms of latency between sites
2.
VCSA deployment size is small
3.

3 hosts in the cluster hosting vCenter
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What must the administrator do to enable vCenter HA?

A. Add one host to reach the minimum requirement of 4 hosts.

B. Deploy Windows vCenter because vCenter HA is not supported on vCSA.
C. Deploy a vCSA of size medium or larger.

D. Decrease network latency to 10ms or lower.

Correct Answer: D

Reference: https://kb.vmware.com/s/article/2148442

QUESTION 4

A vSphere administrator needs to migrate VMs in the same vCenter from New York to California due to impending
severe weather.

Which migration should the administrator perform without causing VM downtime?
A. Long Distance vMotion

B. Storage vMotion

C. Cold migration

D. Cross vCenter vMotion

Correct Answer: A

QUESTION 5

A vSphere administrator attempts to create a VM-VM affinity rule but is unable to locate the option in the vSpehre
Client.

What would cause this to happen?

A. vSphere DRS is disabled

B. vSphere DRS is set to manual

C. Admission control is not enabled

D. Affinity rules are only managed using the Host Client

Correct Answer: A
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